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Question one

State the most correct answer for each of the following.
1.1 when a distribution is positively skewed, the relationship pf the mean,
median and mode from left to the right will be
a .mode, median ,mean
b .median, mode, mean
¢. mean, mode, median
d. mean, median ,mode

1.2 If the mean of ten values is 72 and the nine of the values are
48,71,79,56,45,96,88,75 and 66 then the tenth value will be
a. 70 ‘
b. 65
c.45
d. None of the above

1.3 Which statistic are not affected by extreme values?
a. mode
b. standard deviation
c. Median
d.aandc

1.4 A manufacturer of television tubes has two types of tubes, A and B .The

tube have respective mean life time X~ 4= 1495 hours and X~ B= 1875
and standard deviation (5, =280 hours and 5, =310

which tube has the greater relative dispersion?
a, Tube A
b. tube B
c. Both are equal

d. None of the above

1.5 The Z- score corresponding to a number below the mean is
a. always negative
b. always positive
c. mostly positive
d .mostly negative

1.6 The trade union consists of 4567 members .A representative group of 35
members were selected and asked questions. The 35 is conceded
a. the population
b. the parameter
~c. a sample
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1.7Which one is not a property of the normal probability distribution?
a. symmetrical about the central mean value
b. smooth bell shaped curve
c. the tail of the curve are asymptotic
d. none of the above

1.8 Which average is the largest measure of central tendency in a positively
skewed distribution?
a. mode
b.mode
c.median
d. all are equal
1.9 Given the following eight observations: 5,6,6,7,6,3,2,2.Then 6is ____ of
those observation?
a. mean
b. mode
¢. median
d. range
1.10 Which of the following is true about bar chart?
a. A bar chart is used when the data are measured on a nominal or
ordinal scale.
b. The height of the bar corresponds to the frequency.
c. There is a space separating each bar from the next
d. All of the above.
1.11 In how many ways can 6 differently colored marbles be arranged in a
row?
a.6
b.36
c.120
d.720
1.12 The out comes in a binomial experiment are
a.l
b.2
c3
d4
1.13 In the standard normal distribution the area outside the rang Z =-2 to
Z=+1.61is
a. 0.92245
b. 0.47725
c. 0.07755
d. none of the above

e
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1.14. If the following data are given for 20 observations
S x, =306 3 . =54900, xi9=16 ,x20 =10

the standard deviation for the 20 observations is
a.49.9
b.2
c.59
d .none of the above

1.15. Sampling is inevitable in the situations
a. Blood test of a person
b. when the population is infinite
¢. Test of life of dry battery cells
d. all of the above.

1.16 If each and every unit of the population has equal chance of being
included in the sample, it is known as
a. restricted sampling
b. Purposive sampling
¢. sample random sampling
d .none of the above

1.17 Sampling random sample can be drawn with the help of
a. lip method
b. Random number table
¢. calculator
d. all the above

1. 18. A section procedure of a sample having no involvement of probability
is known as
a. purposive sampling
b. Judgment sampling
c. subjective sampling
d. all the above

1.19. Five establishment are to be selected from a list of 50 establishments
by systematic random sampling. If the first number is 7, the next one is
a. 8
b. 16
c. 17
d.21
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1.20 Which of the following can never be negative value?
a. median
b. mode
c. standard deviation
d. correlation coefficient

QUESTION TWO.

2.1 The coefficient of variation of a certain frequency distribution
was found to be 50% and its standard deviation was 21.2.
find its arithmetic mean?

2.2 The following table of raw data is the result of taking a sample
of 40 values from a population of lambs for an experimental study,

the data being measured to 2d.

18.34 17.34 19.02 19.13 18.71 19.63 18.73 18.38

18.22 18.84 19.02 1791 1854 18.84 19.04 1891

18.73 18.51 17.71 18.81 19.21 18.81 19.20 18.78

18.62 18.81 18.74 17.84 1824 1798 18.38 18.09

18.43 18.02 1791 18.53 19.14 18.68 18.81 1847

Organize the data to form a frequency distribution table with 6 equal classes
beginning 17.50 up to 17.90. Calculate the class boundaries and mid class points
for the classes obtained.



page 6 of 6

QUESTION THREE.

To investigate a process which is carried out repeatedly in a chemical works, the
amount, X, of a chemical added to a mixture is varied and the concentration, y,
of the final product is noted. the result are as follows;

X(g) | 10 10 15 15 20 20 25 25 30 30

Y() (27 29 45 40 63 62 80 74 97 10.1

3.1 Draw a scatter diagram of the data
3.2 Calculate the equation of the regression line of y on x and draw it on the
scatter diagram
3.3 assuming a linear relationship between x and y find and assess the product
moment correlation coefficient
3.4 State, giving a reason, whether varying the amount of chemical added is an
effective way of controlling the final concentration. What advice would you
give to the works manager who requires the final concentration to be
consistently in the range 3.5 to 3.5?

QUESTION FOUR.

4.1 In a box there are 5 red 7 white balls, what are the possibilities of drawing
a) 4 red balls at the same time
b) 2 red balls and 2 white balls in drawing 4 ball at a time?

4.2 Use the coding U= x —5]25 to find the mean and standard deviation of the

following distribution
x | 105 110 115 120 125 130 135 140 145
y |14 26 2 70 68 35 11 2 1

4.3 You are interested in estimating the mean age (years) of a population.
The population is an approximately normal and has a standard deviation
of 5. You sample 24 individuals and calculate a mean of 25.
a) Calculate a 95% confidence interval for the mean age in the population.
Interpret this confidence interval.
b) Calculate a 99% confidence interval for the mean age in the population.
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The values in the table are the areas between zero and the z-score. That is, P(0<Z<z-score)



